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Instructions to the Candidates

Read the following instructions carefully before you
answer the question:

1.

2.

Answer are to be given on a SEPARATE ANSWER
SHEET.

Please write your eleven digits Roll Number very
clearly on the Test-booklet and Answer Sheet as
given in your admission card.

Please note and follow the instructions given on
the answer sheet for writing the answers.

Darken the CIRCLE with pen for answering the
question in the appropriate space against the
number corresponding to the question you are
answering.

There are 50 questions in the test.

6. Since all questions are compulsory, do not try

10.

read the whole question paper before beginning
to answer it.

If you do not know the answer to any question,
do not spend much time on it and pass on to the
next one. Time permitting, you can come back
to the question, which you have left in the first
instance and try them again.

Since the time allotted for this question paper
is very limited you should make the best use of
it by not spending too much time on any one
question.

Rough work can be done anywhere in thé
booklet but not on the Answer sheetfloose
paper.

Every correct answer will be awarded one mark.

11, Please return the answer sheet to the invigilator

after the test.
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In the given sequence some letters are missing. Which of the given options can fill the
blanks in the correct order from left to right?
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aﬁmﬁtﬁiu
1, abaab 2. abbab
3. aabba _4~" bbabb

Which set of numbers is like the given set?
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if each of the lgtters in the English alphabet is assigned odd numerical value beginning
A=1,'B=3 and-s@ on, what will be the total value of the letters of the wﬂfl:_!' INDIAN?
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6. On another planet, the local terminology for~earth®; ‘water’, “light’, “air’ and "sky” are "sky,
‘light’, ‘air’, ‘water’ and ‘earth’ respectively. If someone’ls thirsty ﬂ'kere, what w:}uld he
drink?

Rl 37 WE W, wEl o) TOEiE WETE % SRERearth’, ‘water’, ‘light’, ‘air 3R sky’ &
FHa ‘sky, ‘light’, “air’, ‘water’ 8K ‘earth’ £ &8 W =g mie&uﬂrﬂw?
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7.  Choose the odd numeral pair
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Directions (Questions 11 to 13) Reah"me Tollowing information carefully and answer the
questions given below.

23§t 7 wEE W o @ w2 3w Ry uel & Iww 37

Ravi and Kunal are good in hockey and volleyball. Sachin and Ravi are good in Hockey and
baseball. Gaurav and Kunal are good in cricket and volleyball. Sachin, Gaurav and Michael are
goed in football and baseball.
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11. Who is good in Hockey, Cricket and Volleyball? E"""‘ Medh oMoy |
e, e 3t e ¥ W s @ Slagh N
: ' Gﬂ*ﬁ“uﬁ
1. . Sachin ﬁ Kunal Fodade Ve TeadodS.
3. Ravi 4, Gaurav
(%) s L
(n) @ (w) wRa
12. Who is good in Baseball, Cri };fﬁaliandy‘lball?
e mmmmﬁ
1. Sachin ;2. Kunal
3~ Gaurav u,{'" Ravi
(%) &= () e L=
(r) i (w)
13. Who is good in Baseball, Volle Il and Hn:bﬂfi"
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14. A,P.H,x,ﬁandzaresittinginamw.ﬂandlaﬁ'inﬂ'lemnu-u, and A and P are at the ends.
R is sitting on the left of A. Then who is sitting on the right of P?
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15. A man is facing west. He turns 45° in'the clockwi tli'remﬂn and then another 180%in the

same direction and then 2707 in the anticlockwise direction. Which' direction is he facing
now?

Eﬁmﬂwﬂmwﬁmuﬁaﬁiunﬂrﬂgﬁfﬂﬁmiﬁus % uqm e =6 fem &
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1. South 2. North West e
3. West f South West '
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16. Kunal walks 10km towards North. From there, he walks Ekm towards South. Then, he
walks 3km towards East. How far and in_which direction Is he with réference to his
starting point?
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17. A watch reads 4:30. If the minute hand points East, in what direction will the hour hand
point?
o 9 W 430 T R e w gE of R Ren o 3 A g o g e B
ferem ot w7 ‘ ¢ 1 “ge el by W E
1.  North 2. North-West e
3.  South-East ! @ y"wnnh-éast et
(%) == -~ (®) v wfiaw e
(v) oo g B ) ooww ==

Direction (Question 18 to 20) These questions are based on the following infarmation:
FEm (18-20) 7% o ot &t o ST W i
Seven villages A,B,C,D,EF and G afe situated as folldws
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F s 2kkm to the North of A

FoA &2 Tfl 3ow o wow #

C is 1km to the West of A

C, A# 1 FEd offww = wow #

D is 2km to the South of G

D, G #& 2 frd aff o 0w 2

G Is 2km to the East of C

G, C¥ 2 A of oft wvw &

D is exactly in the middle of B and E
D,BFTER ﬁ@'ﬁﬁ,ﬁﬂrﬂl
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A Is in the middle of
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Direction (Questions 21-25) In each of these question, three words are related in some ways.
The relationship among the words in the question can best be represented by one of the five
diagrams (a), (b}, (c), (d) and (&) given below. Mark your answer accordingly.

Bfw (21-25) By mr o=l ¥ A v v ¥ Rl T Rl e @ wen wm # AN R g e
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21, Teacher, College, Student
SEATTE, Sieta, W
1. b 2. ¢

3. d fﬂ

22, Universe, Galaxy, Star
TR, W T, GH b .
1. h W 1. C

'}C-”"“ e I i 4 a
23. Parrots, Birds, Mice
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24. Professor, Researcher, Sclentist

G, I, Al

1. d vi"'/ a

3. b 4. c
25.  English, Latin, Greek e
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Directions {Questions 26-30) study the following figure C-:'H‘Efl.l"'y_' angl:l answer the given
guestions:

Fdw (79 26 -30) fiv wr frs = g wt Ao @ IR

26. Which region denotes Indian leaders who are not singers.
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27.  Which region represent Indian Leaders who are singers?
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28, Whi:h-réﬁinn represents leaders who are neither singers nor Indians?
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29, 'Which region représentsindiafi singers Who are riot leaders?
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30. Which region represents singers who are neither indians nor leaders?
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Directions Question (31-32) In each of the following questions choose the word which
comes at the end in the English Dictionary.

Faw (31 - 32) Pl o § 39 v = w0 & G #iR el ¥ sm F 3 En

A, {1
31. (1) Clarinet (2) Clandestine
/jilf Clatise (4) Clagp

: .,m/ it
32. (1) Disconnect Disembark

(2) Disclose {4) Disconcert

33. Rohan ranks seventh from the top and twenty sixth from the bottom in a class. How many
students are these in the class?
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1. 3 =l v . \ 2
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K .
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36. A farmer built a fence around his square plot. He used 27 fence poles on each ride of theg, \
square. How many poles did he nee,Ei a.nngether
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Fnd the missing character from among the given alternatives. Direction [Questions 37-38)
(37 - a8) fav = fawem & fiwm = fao wft a9 h
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39. Count the number of squares in the given figure.
MemwfEdal Sta=mmam s -
e

18 214

10 4. 9

40. How many triangles are there in the following figure?
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41.

42.

43.

Choose the correct mirror image of the figure given below.

Frg w1 i = far wwét = fafee <

1 = [} : f 3 ‘

Choose the correct water image for the given figure.

% fry wy o 2 wh @ ofafe oo
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Find the figure in which the given figure is embedded.
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44. Find the correct figure from the given fooar figures which fits in the question figure.
oy Y o ¥ & wh faw w @ B v fex F w0l o o

@IIE

45. Find out, which of the answer figures complete the figure matrix.
mﬁﬁ#mﬁﬁiﬁwwﬁamaﬁqﬁmh
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d46. Three figures are followed by four answer figures from which you have to choose a figure
which would most closely resemble the uploaded form of £he figure.
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47.

Figure out from amongst the four alternatives as to how the pattern would have appear
when the transparent sheet is placed along the dotted line.

Fer w aw fawed % @ =@ s o 5E =t A oeedl wEW S e G W AR F AR
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Count the number of cubes in the given figure.
v o R & = 5t S A W=

I = 2 9
10 4 11

49, What number is opposite to &, if four drﬁ‘erent positions Efi dice are shown below.

it oft & am s=T- m&ﬂﬁmthﬂmaﬁmﬂhmmﬁnm
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4, 5
A, s.ulh:l cube of each side & ems has been painted red, blue and green on pairs of opposite
faces. It is then cut into cubical blocks of each side 2cms. How many small cubes have
three faces painted?
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Direction: 1-5 Read the following passage
and answer the questions based on it

Gandhi without realising it, had
found the secret of success. He
began to look on every difficulty as
an opportunity for service, a
challenge which could draw out of
him greater and greater resources of
intelligence and imagination. In
tuming his back on personal profit
or prestigein his work, he found he
had won the trust and even love of
white and Indian South Africans
alike. More and more people from
‘his own ocommunity began to
entrust their legal work to him. In

..5hort time he was a . successful
lawyer, dignified with westernised
life style.

He brought his wife Kasturba and
two sons to their new home and
+painfully they adjusted te the
tortures of alien cloths and artificial

" manners. At Tirst they objected

bitterly, but Gandhi was unyielding.
It was essential to look “civlized"”
that is, European. That was the pﬁEE
of success, and all of them had to
Pay for it.

But the political and social
repression of all Indian in Sowth
Africa, and especially the desperate
condition of those who come as
labourers on a system equivalent to
legalised slavery, had made a deep
Vimpression on Gardhi. When the
black plague broke out in the squalid
ghetto of Johannesburg, the sick and
dying were taken to an abandoned,
quarantined building where a heroic
English nurse spent long hours alone
caring for them. Many years later
she related that at the height of
epidemic Gandhi come to help. She
warned him that it was plague, but
he went straight to the sick. She saw

2

5.

him bending over a dying man

covered with vermin. Gandhi tended

to him and whispered. "He is-'my

brother”.

Gandhi found the secret of success

in

1. personal Profit.

2. prestige in his work.

3, every difficulty as an
apportunity.

. turming his back on personal
i profit or prestige in his-work,

- Kasturba

"1 was happy dressing in alien
" dothes.

2. did not agree to dress in alien
clothes,

',3.7 initially resisted to wear alien

clothes and adopt artificial
Manners.

4, Could pot adjust to, alien
clothes and artificial manners.

. faandhi identified with,|

“1." the Europeans.
2. his family.

/_}.r" the labourers who came from
India.

4 None of the above

The Nurse was looking after

1.. Plague patleﬁ:.‘ﬁ-

ll Patients with infectious disease.
’})‘" Sick and the dying Indians.

4. Indian labourers suffering from
black plague.

The man was dying due to
1. Nermin,

- black plague.
3. il treatment.

4. squalid living conditions.




Direction: 6-10 Read the passage given
below and answer the questions based

It is a common belief that without
money nothing is possible in the
modern era. It iz so because the
MNCs (Multi National Companies)
are spreading their wings in every
field in India.

20, we have in our country all things
from 2 pin to an aeroplane made by
same forelgn company. In the glitter
of forelgn life, which is based on
‘manipulation of money instead of
real friendship or real love between
human hearts, the Indians are losing
their cultural shape to some extent.
This is bringing about a number of
changes in our living styles.

In the name of globalisation we-are
being sold foreign branded
sweetened water in the form of cold
drinks, sweet things like biscuits
made of wheat, tinned fruits
vegetables, Jams, concentrated fruit
juices, chocolates etc. All these
things are produced in Indla. For
that the foreign companies buy raw
material at low rates in India,
process it in India and then sell the
manufactured products to the
Indians at a wery high price.
Previously, the Britishers took the
raw material from India, changed it
into finished goods and sold it back
to the Indians at exorbitant rates.
Now, the foreigners need not take
the raw material to their own
countries when they can do the
mischief on our own land and thus
beat us in our own house.

Which common bellef has got the
hold of every Indian mind?

4;/ Money is the be all and end al
of everything.

9.

4. Balance between money and
family is important.

3. Everything is useless,

4. Real friendship and love In
human hearts make life worth
living.

Money is affecting the cultural
shape of our society because

1. Human values appear cheap in
face of glitter of money.

<~ We have started to run after
material gains,

3, We like to be manipulated by
money,

4. Friendship cannot be easily
bought.

Gluhaiisaxiun means
1. We can tour the world.
-2~ Whole world is one big market.

3. Free exchange of ideas with
anybody.,

4. We become citizens of the
workd.

How are foreign companies taking
advantage of India?

1. They buy the raw material from
India and sell them the ﬁnistled
products,

,..rz_" They buy the raw material, get

things produced In India and sell
finished products at high prices,

3. They buy raw material from

India and sell finished products
In their own countries only,

4. They buy raw material from
India, get things produced in
India and sell the finished
product in other countries.




10. How did the foreign companies and
the Britishers differ?

1. Forelgn companies sold
products  in  india whereas
Britishers did not.

2. Foreign companies gave jobs to
Indians but Britishers did not do
50,

Foreign companies bought the
raw material from India and
produced the finished products
here only whereas Britishers
took the raw material to their
own country for production.

4, Britishers liked Indian raw
material but not the finished
goods and foreign companies
like every product of India.

Direction: 11-15 Read the following
passage and answers the questions based
on it.

Crime has become an inseparable
part of our society. But this doesn't
mean that we can allow them  to
impact our daily lives and create
darkness even on the brightest days.
Eliminating crime is must and harsh
punishments are one of the
effective ways to reduce crime. It
stands especially true for the people
who commit crime just for fun. The
concept of punishment is based on
theories. 2

The theory in which goal of
punishments is to deter the future
erime is known as utilitarian theory.
Deterrence is the objective of harsh
punishments as it creates an
aversion for the possible results of
criminal actions. It is justified only
when the harm that punishment
prevents is more than punishment
given to criminal, If it doesn't deter,
it adds to the human suffering.

11

12,

However, utilitarian theory believes
that punishment may or may not
have deterrent effect.

Retributive theory foouses om the
past actions of criminal. The moral
blame is assigned to criminal and his
future conduct doesn’t form a base
for deciding punishment. In It
punishment is must and justified as
criminals have committed. an
immoral act and deserve harsh

- punishment. It basically follows the

concept of an eye for an eye. The
emphasis is on the moral connection
between guilt and punishment.
Punishment is seen as a question of
accountability and responsibility,
Criminals pay their debt in form of
punishment. Retributive theory
advocates harsh punishment and
they argue that it reduces crime as
no matter what. Some people don’t
learn easy lessons. If they are
treated with sympathy, they take it
as a weakness of society. '

The main idea of the passage is to

1. describe erlme and teach
people to live with it.

2 explain  the theories of
punishment.

3., have a deterrent effect on
criminal minds.

4. make people aware of different
theories for mitigating crime.

Utilitarian theory advocates

/l./ giving harsh punishment so that

in future crime s not
committed.

2. punishment cannot stop crime.

3. to understand the behaviour
pattern of criminals.

4. to enhance the positive
outcomes of punishment,




13,

14.

15.

The focus of Retributive theory is on

1. giving Same pain and
punishment to the criminals
which they have given 1o
others.

2. creating an aversion for the

possible  results of crim'lnal}é‘

actions,

giving appropriate punishment

to the criminal. ﬁ '
4. teaching them to be vlndic%

and full of vengeance.

The effect of crime on daily life is
that

1. people have lost their peace of
mind.

2. crime is eguated at par with
fun.

3. Society try-to eliminate crime
through punishment.

47t imipacts daily life and creates
darkness on the brightest-days.
/

Gun culture is prevalent in America.
We keep reading about Jncidents of
any crazy guy who catches hold of
gun and indiscriminately opens fire
and kills many people without any
rhyme or reason. In such instances
punishment should be decided by.

X Understanding the background
of the attacker.

2. correcting hinr morally first.

3. making him suffer the way he
made others. :

4. making him understand the
severity of his actions and the
sorrow that he has brought on
others.

Direction: 16-17 The following five
sentences come from a single paragraph.

16.

The first and last semtences are
given choose. The right order in
which the sentences (PQR) should
appear to complete the paragraph.

5.1 Computers have become an in
integral part of our lives as they
offer us just anything under the
sun.

5.2
5.3
5.4

5.5 Excessive, use of computer is
causing innumerable problems
related to health so it should be
used judiciously,

P - Modern childrep easily get hooked

. 4an to them especially because of the
games.

— Mo doubt they have made lives

R—

easier but not without a price.

From banking, shopping,
. entertainment, knowledge, you
b _{ﬁamE-it and you have actess to it

Thoose from the options given
below

-‘.,:I:./.RP'D.. R

Z. POR
Ll it

3. QPR

q.. RGP

17

5.1 The means used to achieve ends
are important as the end ftself.

5.2
5.3
54

5.5. Therefore  success .without
values s unreprehensible and




can  never acquire societal
approval,

P— Success achieved through

dishonesty is ilegal and gets

disrepute rather than praise.

Q- Using unfair means to get what you @'\
want is in a way succeeding in your 4
endeavour but cannot be approved,

R— Itis an easy way out to succeed and
makes one compromise not only
with learning gained jn the prn{essk\
of achieving ones good but alscr with
ones integrity.

Chodde from the optibns Biven below,
1. RPQ B
2, CQRP

/i/ POR

4, ROP

Direction: 18 - 19 The following
guestions have the second sentence
missing. Choose ' the apprapriate
sentence from the given, options to
complete it.

18" A In most of the villages in India
people are poor so are illiterate also

B.

C. Thus, they . are unable 1o
extricate themselves out of this
miserable life.

They are Super!:tltlﬁus- backward
and I:rellevE in witches, WI.IEIrdS- and

ghcrﬁt.'-

2. | They consume alcohol, tobacco and
E also narcotics.

3. *Many people in villages live in small
Fouses made of mud.

4, 'ui'llla.ge life is.slow paced and full of
M leisure.

19. A Hostel life Is larger than family life
B.

C. One gets the lessons of mutual
help and team-spirit.

1. The strict discipline n*q»ﬂitel
detaches them from real life. (/-

2. It iz a popular place for enjg
adventure. ’L—’Eg

LA

There is always some kind of activity
going on. [

One can learn to live-together with
friends in good as well as bad times.

Direction: 20 — 29 Fill in the blanks with
the most appropriate nptbnn from given
alternatives

20.  Most of the migrants from Pakistan
and Bangladesh have séttled in

" the outskirts of Delhi.
2. and around Delhi.
i. the Posh areas of Delhi,

4, hub of Delhi.
21. The direction we take the
rest of our Journey through life
1. decide
J_',Z’."-- determines
3. directs
4. revolves

22. He wears eyeglasses with _

lenses
1. sguare
improper

/3/ thick

unusual

imar—




23, When a child is working on a

computer one to think he is
engaged in serious work,
1. forced
/.!r-..iend!.
3. believed

4, envisage

24. The post to convey that
there is a generation gap between
father and son

1. unable
}/ﬁshes
3. regards

4, perceieves f

25. Every day they would
and munch everything in sight-

1. drink

2. swallow

)/ chomp

4. crash

i6. The Son neads to realire
that his father loved him

1. intelligent

2. smart
& thoughtful
4. prodigal

—— |
27. Childhood is a lost hidden
in some forgotten place

1. opimion
2. thought
3. feeling

. =
/‘f Memory
2B. Water has made our earth

colourful with life of a vast
variety

1. vibrate

2. pulsating

3 |jubilant
4. delightful

29, The Japanese and the Hawailans
eating sea plants but it |s
not so in other countries whera it is

used as manure

1. adored
2. abhor
3. relish

}/"" enjoy

Direction: 30 — 35 Select the meaning of
the underlined phrase/idioms.

30, Al the politicians are chips of the
same block

¥ alike

2. different
3. patriotic

.-.I A, Tull of loyalty

31. ‘Wideighbolir alvays threaténs me
with dire_conseguences if | de not
submit to his aggressive behaviour

1. unfair results

2. misunderstanding
indecisive results

a. restoring faith

32. Shagun is always boasting about his
achievement where as it js just a

case of empty vessels making a lot

of noise

&7 self praise

2. 1o glorify others

3. behavingin a strange way

4. always picking up a fight




e i

33. Though the car looks good but It is
not worth 2 dime

1. expensive

ﬂw cheap

3. notin good condition
4. Completely wrecked

34, Her imagination plays havoc as idle
mind is a devils worksshop

1. to over think

remain absentminded

_.Jﬁ'ﬁust in thought

4. today-dream

LS

35. | am at my wits end as | did not
prepare for exam in time.

1. impatient
2. tofeel completely at loss

/5" helpless

make sense

Direction: 36 — 43 In the following
passage there are some numbered
blanks. F

Fill in the blanks by selecting the
most appropriate word for each
blank from the given options.

The rain gets (36) over the
land and the sea. The vapours go to

the (37) and take the (3B)
~_ of douds. These clouds
have the (39) which form
the 40 on the earth. The
rain (41) on the earth to
wash and (42) the dry
and (43) things.

&,
1. constructed

2. cascade

/E" formed

4. manufactured

37. 1. Planet
2. moon
..}.'fheaven
4. hell :
f:l,./’Shap-e
Shadow
3. Shade
4, From
39. ¥ droplets
2. waves
3. atoms
4. dust layers
40, 1. dust
2. wind
3. water
.J'-r rain
41. 1. ascends
__2-descends
3. jumps
4, grows
42. 1. rinse
2. spray
_,}-‘" bathe
4. throttle
43, 1. hungry
2, latent
_A thirsty
4. motionless & g
Direction: 44 = 41 Wi A

appropriate option to #ill'in’ 'I:he blank
from the given alternatives

44, All over India gender discrimination
is still which causes
harassment of all kinds for women.

1. rampant
2. emergent

_a~ apparent

4. developed




—_—

45,

46,

a7,

What marked Bismillah Khan was his
simplicity and__ for  riches
that come with musical fame,

1. greed i
2, disregard

3. grandeur

4. illusion

The institute had trained the
students not just in trade but had
also to develop intelligence
and moral character in them:. o

1. made an effort
2. aspired

-3 endeavoured
4. assisted

It was sheer courage and an
optimistic attitude which helped the
Voyagers  survive = thé
experience at sea.”

1.  unusual

2.  Impenetrable
A7 tumultous

4. hazardous

Direction: 48 - 50 Choose the antonym
of the underlined word from the four
alternative given

48,

7

Each one on the Wave walker
contributed in hattl,ir;l)g:Qﬂ_ath by not
revealing their anxety and fear,

= P . ¥ . 1

Pl

. 18 lsuhmgﬁ;ing
_,.2:"' concealing -
.3 hiding § i

4. providing

49

50.

Mouss s a suitable ‘model for
conducting research related to
human body

1. insuitable
Z—unsultable
3 nonsuitable
4. imsuitable

Inhuman and squalid condition of
the hospital was unbearable

2. slopy
3. repulsive
4., sgrdid | 35

19 b
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1. This diagram shows the process of

—. -1l Binary Fission
2. Multiple fission
. Regeneration
4. Budding
2. The gene which control the blood
group represented by the letter
1. B
2. E i
i
4. 0O
3. Person who are infected with ....... can
donate eyes.
1. AIDS A
w3 Diabetes
3. HepatitisBorC*~
4. Rabies

4. Which part of brain shows pituitary

% The hormone’ which - promote cell
division in plants is..........
1. Gibberailins
2. Abscisic acid
‘{3‘!"' Cytakinins
4. Auxins

T8 o ¥ femrd of ufgemr =of of 2
~0—9
‘-';_'3-'
ﬁ-.'

1 s e

2. it faeer

3. TR

4. afém
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4. 0
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4. EFEE (W)
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ol B o ey
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6. Which one of the following is a type of

ﬂ;‘l.ﬂ/rjﬁun in Amoeba?
T Holozoic
2. Autotrophic

3. Parasitic
4. Saprophytic

7. en..transports productt” of
photosynthesis from the leaves where
they are synthesised to othér parts of
the plant.

1. Xylem
2. lymph
3, nephrons

_,_A.‘"' phloem

8. Which of the following is a biotic
components of an ecosystem?
Living organisms-
2. Temperature
3. Soll and minerals
4, Al of the above

9. v 18 @ dark muscular diaphragm
that controls the size of the pupil. —
1. cornea =
2. retina

Iris
4. Crystalline lens

10. Which part of neuron shows Dendrite?

]

1B

A =
2. B
4. A

11. Which part of the cell is also termed as
‘suicide bags of the I:EII"':'
1. Ribosomes 1

2. Golgl bodies
<" Lysosomes

4. Mitochondria

6. Fafafes % & o o v s 3 G

& TER T,

1 EErETE
2. T
3, oot

4, qErTaE

7. U AR % 9N der me T
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1 ol ()
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3 gl

4. FEEH J
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s urwm B7

[
2. AT
3. [ v wmFE
4. aqﬂﬁfaﬁ
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3. smEfs
4, P o

10. =T = =y W v Fede = geler 27
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12. Which tissue of the following connects
bone and muscle?

1. Ligament
2. Cartilage
Areolar Tissue

\_A;" Tendon

13. Which of the following is correct order

for classification of animals,

‘_J/"m“gi:m. Phylum, Class, Order,
Family, Genus, Species

2. Kingdom, Phylum, Order, Class,
Gerus, Family, Species

3. Kingdom, Class, Order, Phylum,
Genus, Family, Species

4.  Kingdom, class, Genus,

Phylum, Family, Order, Species
14. What factors could lead to the rise of
New species?
1. Natural Selection
2. Genetic drift
3. Acquisition of traits during life
time
oA Al of above

15. White silver chloride turms ................ . in -

sunlight.
2AgCl(s) -
‘,,I.f‘“' Grey
2. Brown
3. Blue
4, Green
16. Which one of the following is not an
organic acid?
1. Citric acid -*
2. Formic acid <
_3.—Carbonic acid
4. icacid
17. What type of reaction is this?
MnO; + AHCl — MnCl; + 2H,0 + Cl;
=+* Redox reaction
2. “Diplatement reaction
Double displacement reaction

Decomposition rea:tiya

-4 J"ll_ s
P“-.E,L-l..th-x-

Su-nli-gh-t—2Ag(s) + Cl2{g)

3.
4.

_.'.&
o
P
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18. The atmosphere of Venus is made up of
thick white and wyellowish clouds of

1. Acetic acid
_2~"Sulphuric acid
3. Nitric acid
4, Hydrochloricacid =5

19. Aqua regia is a highly corresive, fuming
liquid. It is one of the few reagents that
is able to dissolve. ...

1. Platinum

2. Gold
Both 1 and 2
4. Neither1pr2
20. .......Is a non-metal but it js lustrous.
1. Carbon
2. Sulphur
Bromine

flndlne

plants are one of the maost
efficient convertors of sunlight into
chemical energy.

1. Jatropha™
2. Sugarcane)¥.

4. Sunflower

22. The head of'a soap molecule is kriown
as

1. Hydrocarbon ===
2.  Hydrophobic 1

3.  Hydrogen Carbonate
‘5/" Hydrophilic
23. Esters are formed by the combination of
1. Alcohol + Aldehyde
Carboxylic Acid + Alcohol
3. Carboxylic Acid +Aldehyde
4. Alcohol + Aldehyide

W
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21
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A i T 2453t ¥
isc replac a- -
alurminuem. i = ™
: e, H‘w-.l-! it . 1 !ﬁﬂ'
1. Scandium G, G A
fgﬁ,‘rﬁalllum 2
3, Germanium 3_- .H!i_ll.ilﬂil: y
4. silicon 4. e .
25. An isotope of ............... is used in the 28/ e W THENE FW W oz B
treatment of cancer. fove w3 Amm T 2 ;
_l"Cobalt 1w
2. lodine 2. SR
3. Uranium 3. g
4, Ehlurln_e o , :Id T
26. Face cream is an example of 26 R W ANE O e m m #
1. Aerosol W Pres
_'j,."’ Emulsion :
2 iR
Foam
4 Gel < * :
4.
27. For s.phe.rlca! mirrors of small apertures, 27. B¢ BT WA T o & fav TEa
the radius of curvature is found to s T 21
1. equal the focal length. ; ! kil
,,Jafftwice the focal length. 2. =W g i ;ﬂﬂ
3. Frw 58w A T

3. thrice the focal length.

4. There is no relation between  them. 4.- A o i w wer ]

28. A convex mirror used for rear-view on 28, qm mE A W o e -hﬁ ﬁ; f;“!w

. @n automobile-has a radius of curvature e M wmm w F m
of 3.00 m. Ifahuslsincatedatﬁl]ﬂm Frsar 3 2 agodgiaay Ll

from this mirror, “find the 5|zg |;|f the 4.l - _'|._ m ¥l 8. Em: J“ 5l'|‘l %l

&

" g&q%ﬁmﬂuﬁﬁrmmﬂm1

image.

1. 0.32m "]._:_-,.— L E’__)( =1 0.38m I’
_270.23m ¢ -2, V0,23 5,

v g " : -
___‘_F-._l L .
3. 0.87Tm o TR s i
4. 1.15m - 4. Li5m
29. The net paser (P) of three lenses having 29 mﬁ#ﬁﬂlzﬂiﬂﬂ P1, F:-! P3 A
powers P1, P2 and P3 placed in contact QS wE wiEe
pow W ¥ I A
i5 giver by i = I T S R
L PERAaiiaPd y e 2. P="P1+P2%P3
P=P1+P2+P3 vz 1D : B
= 35 1/P=1P1E 1/P2 + 1/P3
3. lfF'=1|l'lF1'l‘1.|'rP1 +1/P3 E’ 4 i}.;-‘pﬂp2+p3]f3
4. P=(P1+P2 + P3)/3 o
{ M - .
e R g, Oy
= , —o %
JL}.- ey O
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30. Two wires that are made up of twio
diffarent materials whose specific
resistance are in the ratio 2:3, length in
ratio 3:4 and area in 4:5. The ratio of
their resistance is

1. &5 L*"g_‘j—}ﬁ_é

30. &m}ﬂﬁﬂm-mirmﬂfi-ﬂ!
mmrﬁﬂumﬁmz:a,'ﬁﬁlﬁ
W R 3.4 LU g T —
ﬁwﬁrdrrs‘hﬁi‘lmﬁuwm
4 B

2. En.'ﬂ: i‘"l.. b 1. G:5
. S_ ' 2. B8
_ 358 = i :
4. 12 L 3 58
31. The equivalent resistance between ;EE 4. 12

Points A and B in the circuit as shown in
the figure below js -

W3 ag o &

3 &
2. 13 -, .
3 &6
4. 1/3
32. What is the unltnfrﬂlsﬁu{_ :
1. Om? L
2. Om? o PE. '
3. Om* ; L= poc
40 £3m i

Ll o 1
33. 100 1of hegt are Produced each second

in a 40 resistance, Find the potential

difference ;Em'si the resistor ¥ 4
i [SBE, B 3 T I a
;" 1':1" T4 N = Hag
' g oh™
oy e
32 =
4. 25y

34. Two bulbs are marked 100w, 220V and

=0'W, 110 V. Calculate the ratio of theijr
resistances,

i | -\"}' - l\m
br

2, 12 g i
3. 34 ’ME*-*E!#
4 13 "ﬁ .
Conbass P 4
=] -..'-:a.;,'i.-:‘_ -"E

g X
A -

ot

g

3l ﬁhwnﬁ%ﬁ:ﬁhm
WY & A sk Biﬂqiqauﬁﬂru
Fsm=r g 7

—5

/ 1. 4ooy ¢ !
lg. v, :
4, 25y

34, 3 et 100w, 220v st S0W, 11p v
Fovear haﬂmﬁﬁma&
P o

1.“__ 2:1 =,

E 2 12 ~
3 3a
4 - 1:3
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35." An induced current is produced when a 45, 7 TR YUF W wmeen F Yo s # &

magnet is moved into a coil. -The © ifiE wrr Y= v B wE ufta wie =
magnitude of induced current does not gqffero e o fsde =t =
depend on )
1 w1 e A A W
1, The speed with which the Eﬁ : .
magnet is moved e 2 mE W Wy #t W W W
2. The resistivity of the wire of the . -t S
cail T 3 mwr O e B
__3—The number of turns of the coil ‘Y4 et e
4. The strength of the magnet ) 36. LPG & T w1 om e # e e
36. A Strong smelling substance called THEH WORNSA AT g B wen R
ethyl mercaptane which is added to Frast i wgm @i @R ¥ = T

LPG cylinders to help in the detection of ) |
gas leakage has the chemical formula as = w J

1. C;HsSH
.2“'{' Haahd 2. CHsCHO
2. C;H:CHO 3. E;H.gﬂ'H
3. C;H:OH ‘ 4. C;HsCOOH
4. C;HsCOOH 37. R fuw ot o Se et W S
37. The aviation fuel which is used in the Ferar wvem 2 E—i i_ ﬂ?ﬁi“ I!H:ﬂt 27
engine of jet aeroplanes is very tlfvl_:fse to - s
: i:::al Gas lf 2 W -
3. Petrol P
jf' Kerosene _" h{ﬂh
38. The unit of solar constant is el ey "
1 KWh . t . e wem
2. kw/m £ ez .._‘m_.fﬁ mmﬂﬂ e
& KW/ . 3. P wft = b, ‘
4 kW/m’ f 4. Resirme S wwer HeY e
39. The flaws like internal I::'rﬂ:;l:s etc. in the 39. ﬂ'lﬂlf T ¥ seen !ﬂﬂ‘ﬁﬁ'& =
metal blocks are detected by - S e #
sing, s = L g :
1. Rewverberation _ 2 ARy ' "'«-.\‘
A Ultrasound, ) 3 s
3. Infrasound i 0 Fi Frffeer

. &, Echo location
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40. A person standing at a certain distance
from a wall produces a loud sound, He
hears the echo of the sound after 1.85
Calculate the distance between the wall
and the observer if the velocity of

40. % S S W e e gl Y mm R
n}ﬁmmmmEmﬂﬁ
T 16 wwE W W gk T ot B aw
wF orlt W W osap @ RwT R oA

sound in air js 340 m/s. g M&ﬂaﬁ@‘mﬁ;
1. 612m w24 W d 1. 612m
"ﬁmm .1. i 2. 306m
3. 377.7m %, 3T
4, 755.4m 99 é"m 4. 755.4m

41. Arrange the following states in 4. Prfafer T W T g e
ascending order of population densely. T SR T st W
L. Assam® . . -  Nagaland . L Annts
. Tripura Iv. Mizoram ~—— il . R _ V. o=

N0, 0, Ly
20, m, | sy 2. LN, IV,
3 LI, |, = 3. VL,
4. IV, 4 V0L,

42. Match list | Animals / plants with fist |1 42. 7 1 W ol 2 B W Feme o 59
category of existence and select the ey femwsdi 3 % Wit 3w ]
ANSWer using the codes gwen below.

List 1 :'Anlmars,."plarﬁts list il (category of e R I
existence) 1 . cfmr 'ﬂﬂ Eﬁq
. Black buck— . Extinct . 99wl g dwe o

B. Rare
_C. Endangered

Il. Asiatic elephant
. Andaman Pig

W. Himalayan

brown bear D. Vulnerable
V  Pink head d E. Endemic
L =B U=Cll-4V=0,V-E

I-C,II-BW=D, I'u‘—E V=Aa 31‘:

3. I-C.u=pIh= Elv—nhv A
4 1-El=Dlli~B,IV=A V-B
43, Find out-the incorrect statement with

tespect to Black soil,

1. Black soil ‘is well known for its
capacity to hold moisture
Black soil is rich i phosphoric
content

3. Black soil is sticky when wet and
difficult towark -

4. Deep crack in black soil helps in the
proper aeration of the soil

_..\_n__:

V. el et oo cofry

L 1=B,l=Cll-A, V=D, V¢
2. =G ll=Bill=D, W=E V=A™
3. 1-CU=DIll—E V=b, V_A
4. 1-E, HJDIII—FE I — .I"l.,,"ulr B

mﬁf’wﬁmﬁi’mm Lol

e ‘l\

L SR A R oo o e
s & A A e R

2. wwim ¥ weERE s wm ¥
oA W

3. Wt PR wowelt wmr faeRed g
mﬁtimﬁﬁ‘-ﬂﬁaﬁmﬂm
B

4 mﬂﬂﬂihﬁ!ﬁﬁﬁtﬂ#q
R 3 wwmmr =i 24




44. Which type of drainage patterns is
formed when the river channel
follows the slope of the terrain?
1~ Radial
Z. Rectangular
3. Trellis
4, Dendritic

45, C@Iltqgr_'line_s._ represent >

,.a-r"" ﬁu*eas recording same amount
of rainfall.
2. Areas having same degree of
temperature.

3. Areas having same height
above mean sea level.

4. Areas showing same

: pressure.
46. Tropic of cancer passes through
. state. /

2. Bihar
3. u.p
4, Magaland

47. Arrange the following Sanctuaries/
National parks of India from North
to Southdirection.

l,- Bandipur f

Il. Sariska

lll. Dachigam o

IV. Periyar- \¢ . 7
gl v i
2. W on I
~mon V
4, | m = n v

44, T FE it WH URE 39 T & NEee

45,

46,

47.

7t T 9 FER wwa ¢ A e o .
s ufes o= #

(R
2. AFEATERR
3. S

4. ERRREE
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1 T e &

2. I TR U A
f""ﬁi 7 | T Far R
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1 R

2. Rem

3. IW-TW

4. ATINE
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T Tae W I ¥ e R o8 o
¥ wafer we

L wiAg

2. Hfwm

3, EEEm

4. Uftaw
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48. Sivasamudram waterfall fs formed
by river.

."J.-r" River Kaveri
2, River Tapti
3. River Narmada
4. River Godavari

49. Which of the following statement js
correct about sugarcane crop?
L It grows well in hot climate
with a temperature of 25°C

2. The major . sugarcane
producing states are Hi al
_and Haryang :

-

3, It is a tropical as well as
subtropical crop, grows well in
hat and humid climate

4, “India is the first largest
producer of sugarcane

50. Which of the following fndustr‘h‘-'_'i

uses bauxite as a raw material?
__1~Aluminium
2. Cement
3. Jute
4. Steel
51. Which of the following is not a non-
ferrous mineral?
_ 1. Bauxite
2. Copper
3. Zinc

fﬁf"Manganese

52. Which of the following mountain
peak does not lie in India?

1. Namcha Barua~
2. Nanda Devi-"
3. Annapurna -

(ﬁ-:" Kamet

1o

48. PrempE WO a8 mm we
" 2
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2. A oah

3
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wer 8
Tt wt

49, ﬁﬁﬁﬁmi’#ﬁhmmnﬂ'm
WA AR W a7
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e # S I sk e e
&g e

YR o A = e w owm
JeuEe 2y ¢
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52,

1
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Apohie .
53. In the context of France, Taillle was 53, &i® & w2 ¥, 2l v

1. Direct tax levied by the state J'
A tax levied by the church

3. The tax levied on the articles
of everyday consumption

4. None of these |

54. Find out the incorrect statements

with regard to Rowlatt Act.

. Rowlatt Act was pass
1919 : .

Il. The act allowed detention of
political  prisoners w'rthm&_
trial for 4 years

ll. The act was passed with the
consent of Indian members DC ¢

The act allowed detention of
political  prisoners  without
trial for two years

1. Only land i
2. Only Il and IV

Only ll and i
4. Onlyland IV

55. Which of the following continent
was discovered by Christophe's
Columbus?

V.

4, Asia

56. Which of the following state lead
the unification of Germany?

1. Rhineland
2. Hanover

.i:"”' Prussia

4. Brunswick
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57, Who was the founder of the Hoa
Hao movement?

1. Phan Boi Chau
__2~Huyunh Phu So

3. Liang

4. Phanchu

58. Which of the following style of
education was provided by Tonkin
Free School (1907)

1. Chinese
ﬂEnch
3. -Western
4. Vietnamese
59. lames Hargreaves devise
Fi)./ﬁﬁfnnlng lenny
Steam engine
3. Spinning wheel
4. Printing machine ’
60. Which of the following pair of Author
and Novel is correctly matched
1." Srinivas ——— .
l}r‘ﬂankim:hander"-- Durgesh
Chattopadhyay—--- Nandini
3. DevkiNandan khatri-— Godaipl .

4. O.ChanderMeno —Pariksha Gurg’ -

61. The Russian Parliament was called as
© 1.7 Reichstag
2. National Assembly

3. House of cormmons

MDuma

Indulekhaet. -

57. 'ﬂmmﬁf HEET F W ke 47

L & 9 i

T

2 mEEaa
3. B st |
4, WY

56. S <t v (1907) ¥ Feates & 2
e e o fire werr o S i

L
2. S
3. afvedy
o4 T AR
E?ﬂ'ﬂ Lac i i SR - B e i
1 e o
2w e
3 ol o
4. RfEn sl

60. Pl & @ w8 S mm

2. afEE PR g
3 et e e g
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62. Hitler's ideology related to the
geopolitical concept-of Lebensraum,
or living space implied:

1. There was no equality between

people, but only a raciah,_,-'
hierarchy
2. Only those species survived on
L earth that could adapt
themselves to changing climaticﬁ
conditions.
3, Mew territories had to be
acquired for settlement 1o
l increase the area of the mother
country.
. An exclusive racial community of
ﬁure Germans to be created by
" physically  eliminating all those
who were seen as undesirable
63. Kalangan Community of lava were---

1. Spinners
A Shifting cultivators
3. Potters

4. Cattle Herders

64. Which of the following forest
communities is wrongly matchea.

1. Santhals ——-—-- tharkhand

2. E}raﬂrl"l --------- Magaland T
3¢ Gonds - Chhattisgarh =%
4, Khasas —-------- Himachal -

65. Which of the following State fall in
the category of ‘holding togfthey

federations? -
1. Switzerland
2. Australia -

3. US ;
/d/ Spain L

62,
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B6. Match list 1 with list Il and select the
answer using the order given below
the list

List 1 List 2
l. Pressure group A, Assam Gan
Parishad
Il Long term B. fertilizer dealing
Movement assockation
lll. Single fssus ) C. Women
MOVemeant MOvernent -
IV. Political party . Narmada Bachag
Andolan

1 -C, I, -D, -4 K-B
_2=T-B,ll-C, =D, v-A
3. I=-B,U=D,=C, IVea
4. 1-CN-C, M-8, Iv-A
67. Which of the following wunion
territory has its own asse mhl;.:'r‘_

1. Chandigarh
2. _Lakshaweep
3. Puducherry-

4. Daman and diu

68. In which of the following country the
participation of women in public life
is highest.

1. Denmark
2 Estonia
3. Slovakia
4. Norway

69. How long can the Rajya $abha delay
the money bill passed by the
loksabha, 2l il

1. 7 days
2. 20 days
3. 25 days !

__ 4714 days

66, -1 W fme -2 & Sif

AR & i @ wh ae g

it ) = 2

| T A Ew fEaE W
e W

I, et smfe = B v s
FeEr

oo 9% w sl . wiesr S
o

IV. Tt = D. oy it

L KC.,H -D,In-A, W-B
2. I-BU-C,M-D,Iv-4
3. I-Bl-D,ll=-C, V-2
4 I-ClI-C,In-B,Iv-A

67. Bt % ¥ famm S wite wiw = s
Fremr w27

LS

1. O
2. wwd
4, TR 5k o
8. Fefafim % & fem 3w % w8 &
S W EwE s #
L e
2. e
3. o
4 aF ‘

69. TF VT a1 wite = fdes ¥ oy wwr
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70. By which constitutional amendment
two words ‘secular’ and *Socialist’
were added in the preamble of the
Indian constitutions

A 44"
2. 80"
3, 42™
4. 52™

71. In which year South Africa become a
democratic country.

1. 26 April 1995

2. 26 May 199¢

3. 26 April 1994

4. 25 April 1996

72. Which of the following statement

about Kosovo is correct?

,l'."'" Befora partition, Kosovo was a
province of Russia

2. There were majority of the
Albanian people in this province

4. Albanian nationalist Milosevic
had won the election

73. Infant mortality refers to the death

Df a child before cnmple’tlng the age

,{"' 1 year
2. 2vyear
3. 3year
4, 5year

74, Which organization carries - out
survey for determining the pc_r-!rerrg.r
line?

3. Planning commission
4. None of the above

‘Trerit” WEl W S T

1. 44 @

2. 8D

3. 42 9

4. 52 &

. frm o § =it soE v AR

%:_rw?

1 26 WIW 1995

2. 26 Wi 1996

3. 24 WA 1994

4, FHF 1996
72, Fpefafers 3§ @ wiw @ wEE
i o kR

1 s ¥ s w0 W W UE

qier o

3. Massacre of serbs took place & _

E iG]
73. _mﬁwﬁi%qﬂﬁgﬁ
grg # fig g = WA #
1 1o
2. 2§
3 3
4 ' 5o e

0. e wams AWOE W BAT WRAR
g ft v X ‘wEge’ #

2, ¥ uia W ST agEer 4
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ﬁppur‘t F'"':'EI'-' "
E Market price
*ssue price
thich of the following group of
Suntries has better perfarmance in
Bterms of human development than
: india?
1. Bhutan, Srilank«ﬁﬁﬁaar
2 PMIT, Bangladesh, Srilafixd
3. Srilagka, Indonesia, Cubja -~
4. Ghana. Kenya, Bangladesh :
77. What do you mean b'.: ca:illa-t.;rﬁi?

1. Itis the total sum of maoney with

a pefrson SlLE

2. Itis things kept in the locker
._"jr"}t s Buarantee given bv the
borrower to the lender

4. Itis the security to a lender until
the loan is repaid

7B. Right. to choose, Right to seek
redressal, Right to represent and
Right to be informed are

1. Fundamental Rights
}fcnnsumer rights -,
3. Fundamental duty
( 4. Consumel Movement = .-
78.In India who directly contalé the
i ‘Monetary policy’ i '
' 1. Financed epartment of Indis
f},s-"' Reserve bank of India .
| 3. State bank of India » .

4. Prime Minister of India

75, T BRI e I ¥ e S e

e WER R
LR SELE G
2. A waita ae
3. G A
4. P e
76. Rl ¥ @ ol @ wwe @ 29w
ﬁmﬁﬁﬁmimﬁﬁﬁmﬁ
1 WEH, siteE, 3

2. e, Ry, s
3. e, TERERT gy
4. 9, Wi, ey

77, W S ¥ S v w7
L =l & e e ot ae
2w H wht o ey
3 FUER BT wvRT T & 0w

4. FN FEult 9% WvERy W & ad
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78 T W afitrew, A W afirew,
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80. On the basis of ownership types of
economy are:

1. Capitalistic, Socialistic, Developed-
Economy.

2. Socialistic, Mixed, Dﬁ-u-anping-DL
Economy. -
Capitalistic, Socialistic, Mixed-
Economy.

4. Mixed, Developed, Develupmk
Economy

value of x is ar

“_
, | -;:E‘
e ) 4
3. 10 2 x5
r
4, 12 C{‘la&jﬁ)

82, The average of 9 numbers is 18.
If the average of first five numbers is

2. 20 2 B

318

4, 22

83. In A PQR, PQ= PR and X is the
midpoint of PQ. XY is-parallel to QR
and meets PR at point Y. Whatkind

L' :l.-".,‘_n.-‘

8L If (¥2)" x(¥5) =[l2x5'Tthen the

r ¢ =2, 3 WemE = shew # e

19 “and the average of last 57
Sumbers 131? find the 5™ ndmb o
a b 7 4 "
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80, fiey = R W 3wy F 9w

1 gt wararendt, fenfee s
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4. Fifvm,_fwfae, Aeedfie adsmen
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84, If oo, P are roots of polynomial: 3:"' +

B4, ot o mpw 3" + Gx+ K & qm B

6x + K such that o’ + iﬂ'.ﬂ-— s o’ + p* +¢1B-- g K & A
then find the value of K. * gl uea 3
aih @H@—“ﬁr—i“‘% 1. -8
2. B = g
3. -4 4-E=% 3. &8
-
_4—1 K= g _3.- -4
kL a. 4
85. If x' — 5x + 1 = 0 then the value of by 2 = VN
o %1*3(5.]:5?,15‘1?:—5:1*1-1] #E‘H‘HI-I-;;EEI'
H+FI5 ---------- : - i‘h-"ﬁ,m s - "
- g ‘1- .
1. 2025 Rl 5 - 1. 2025
7 A
2. 2725 'fﬂ__:él'b | 2..2725"
5 g 2) il WV
; A2 # 4 X =S 4.
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! 51
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A =
=T B

g8. If Cosec 4xi= Sec 5x/then the value
of Sin 3x + Cos 6x-is

¥

1.7 1 TR i S

2 g
= ‘o8 L
3.0 E
4. -3 i,

89. The ratio of radius of base to the
height of a right circelar cylinder is
1:2. If its volume is 2156 cm’, then
its total surface area is-—-

\
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90. In the given figure, MP = 16, MQ =

10. The value of MO x MS is -———
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Cos 6x & a8

Ve 1 1
o2 3. .
i 0 .
'3 -.rdl..l"..'_.'-é' 2,4 e
| o dd = A5

590 e W g AR s ot fasm
Il A @ e o2 R e e .
g 2isperh’ @ R v ww g
e"mr;-r ir_._.__
1. 1024 em’

2. 924cm’ ¥

-.-..I - -I.F o % -
3. *B?dﬁt;m? [ .
Rl Ll T : L T

4, 1204'¢m’

0. a’r‘ﬂ‘f eﬁtﬂiﬁ’ri’lﬂﬁMP=IE MQ =
WWEAMOAxMS S
N>

. HH].IH*.H'&IET!I " % . b

By ' L
=
Qg =" " ¢ o

@




91..The 7" term of an. AP is 5 times
the first term and- its 9™ term
exceeds twice the 4™ term by 1
The first term of the AP is s dind

1. 151 ated=Se . o=t d
=hd . -
2, -39 ‘;;qa :
A3 asBd =20abA 4 )

92. Find the centre of circle passing

through the points (1,4){-2,6) and

(3,7). 94 v;:;_a =4,
1. (1) 14=1"
2. (0,0) =

(1 ?J a=7

272 WY AT

| S GE) ST
W 2 {1 P S 1 -hg,.h»tmru._u.‘u

893.The length of shadow of a
building, when the sun’s altitude
is Eﬂ” is 20 m less than what it
was when it was 45°. The hmght

o1 AP o o o Sl wew UE w1 s
> wiwwhwaﬁﬂwﬁ:

ﬂ:ﬁri;m@i:nnpi‘mwm
R

L1k
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3. 3
4

92. o g, W fgH (14) (-24) ¥k
(3,7) = vhvdfm v ?, W o=
e
1. (1,1)

2. (0,0) I
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98. If radius of a right circular cylinder
is increased by 10% and height is
decreased by 10%, its volume will

1. increase by 9.8%  -sg=weR
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99. The Perimeter of a right isoscele
triangle is (2+v2)m. The length of

its hypotenuse is _hl—xlgn‘n

1. 2m ADth

5 3 3. AN

s
Al ®

100. A fraction becomes ?if 2 is

added to both its numerator and
denominator. If 4 is added to
numerator and 3 is added to
denominator, the fraction

becomes g. Find the original
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